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Note: (a) All questions are compuisory. # %, %3 fgv
(b) The candidate is allowed to make Suitable numeric assumptions whewggg;;[ gilired
Jor solving problems - 3L
Q.No. Question A 7] Pco Marks
Q1 i. For a given op-amp PSRR = 70dB. CMRR = 10°, A= 107
Calculate the numerical value of PSRR, %, %%»gg?
ii. If the output voltage changes by 20V in 40 usec:{;/fluge Slew
rate. g
iii. Help Sita in drawing current mirror cire
single output differential output. [CO 2] 5
iv. Shyam wants to evaluate input im
circuit? Help in evaluating the. p )
terminology used in the formuja®, %,
v. Draw the different config
amplifier. g,
Q2 i. Determine the outp@@i;a% an op-amp for the input voltage ¥,
=200uV, V= 1604V, Tﬁé‘pliﬁer has differential gain of 4000
and the value : [CO2] [2+3

ii. Explain n?l;%ocﬁ diagram representation, ideal conditions, and

equivalenitejredit of an operational amplifier.
£ |
= 144.87pA, and voltage gains are 100 and 125

Q3 LIf K =TT

r@gégc ig{gj)(. Calculate average bias current and the offset current.
11“}} An ethitter biased dual input balanced output differential amplifier
{?%Q?QS the following specifications: Vg = 10V, -Vgg=-10V, Re; = Ry [CO1] | 3+2
\ ‘*%} = 2.7KQ, Ry = Riny =500, R =3.9KQ, R z=100L, I = 2.02mA,
f‘*‘“‘”ﬂ’ﬁ Ver = 0.715V, B, = Ba.= 100. Calculate the voltage gain (with and
¥ without darlington pair).
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